Past Exam Questions on PRODUCT LIFE CYCLE – ANSWERS
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1(a)

What is meant by the term ‘extension strategy’?
Award 1 mark limited understanding of an extension strategy
Award 2 marks for detailed understanding of an extension strategy

AO1:2
Indicative content:
An extension strategy is a way of prolonging / lengthening the life of a
product (1 mark) that stops the product from reaching the decline stage
(becoming a dog) (1 mark). This can be done through ways such as
promotions, new flavours, new packaging (1 mark).

Maximum: 2 marks (AO1)

Do not accept the word “Extend” as its too close to “Extension Strategy”
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1(b) | With reference to the data and with the aid of a clearly labelled diagram,

illustrate the product life cycle for the Maltesers brand. [4]
Band AO1 AO2
2 marks 2 marks
2 marks 2 marks

2 Clear and correctly labelled product | Good clear application to Maltesers.
life cycle diagram.

1 mark 1 mark
1 Diagram only partially labelled / Limited application to Maltesers.
partially correct.

The product life cycle makes some reference
to Maltesers.

0 marks 0 marks
0 No diagram or diagram is incorrect. No application to Maltesers.

Indicative content:

« Maltesers “still one of the best loved chocolate varieties with 2 bags sold per second” —
suggesting being in the maturity or growth stage.

* Maltesers White, Fair-Trade Maltesers, ‘Malt Easter’ mini bunnies, treat bags and tubs

— suggesting extension strategies being used to prolong the maturity stage / life of the
brand.
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Possible diagram with application to Maltesers:

Sales
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1 (c) | Evaluate the usefulness of a product life cycle to Mars Inc. [6]
Band AO2 AO3 AO4
2 marks 2 marks 2 marks
2 2 marks 2 marks 2 marks
Good application of Good analysis of why the | Good well-balanced evaluation
the product life cycle product life cycle is useful | of the usefulness of the
to Mars. to Mars. product life cycle to Mars.
Analysis shows a clear Valid judgements are made to
understanding of the support arguments with some
usefulness of the product | development on both sides.
life cycle.
1 mark 1 mark 1 mark
Limited application of | Limited analysis of why Limited evaluation of the
1 the product life cycle the product life cycle is usefulness of the product life
to Mars. useful to Mars. cycle to Mars.
A superficial analysis of Partial and unsupported
the usefulness of the judgements made.
product life cycle.
0 marks 0 marks 0 marks
0 No application of the No analysis given. No evaluation given.

product life cycle to
Mars.
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Indicative content:

Product life cycle will be useful to Mars because:

It is a large company, with many products and it will help Mars manage the product
portfolio.

It helps Mars identify when they need to Jaunch new products as older ones go into
decline.

It helps identify when_extension strategies may be needed e.g. those used for Maltesers.
It may help identify other marketing strategies that could be used to support each stage
of the life cycle, e.g. lots of promotion during growth, less promotion during decline,
prices to be lowered during decline.

It may help identify financial requirements e.g. at the R & D stage or to develop new
flavours or packaging.

However:

It will not help in predicting future sales of a product; it just shows the current situation.
The use of it will not actually make decisions for Mars — it is only a management tool.

The position of the product on the life cycle is not the only determinant of sales — there
are many other factors which affect sales.

The product life cycle is a useful management tool, but it should be used with other
information for making decisions about products.
Any other relevant suggestion.




